sorag  |PORHERERE B MR e A B BH R 2023/10/04 ki Wi wx
itk 54 R e e EEE S L&k FAT ANy
R bl Rl ie i e [efeees ik L a
A+ =] LA 2{F 3L Y ivA 5L 6L HE 8fi
57 104K L00m JIE ) 1210 (=3.0)[#EH 52 K(1) 12.16 (=3.0)[H{1: BHH(2) 12.26 (=3.0)[/INII #EZE(2) 12.31 (-3.0)| T -/ K (2) 12.41 (-3.0)|#=HE SkHR2) 12,50 (-3.0)[w5 % #Ik(2) 12.69 (-3.0)| IR HHE(2) 12.81 (-3.0)
=4 =B [ - L2 [ e g Rl - b =4 THT Rl - AL e digrh
10540 200m HH: BAR) 2424 (20| BN 2451 (-2.0|#H ZERQ) 2477 ((2.0D/N1 #E22(2) 25.42 (-1.9)|{TH {&H.(2) 25.64 (-2.0)|iEE EHQ) 25.67 (-2.1)|#IiE A2 2572 (-1.9)[#EH BEFIRI2) 25.75 (-2.1)
Rl - £ ] v EC Sy A ZOR L SLBE LB Ffi - fk EJIGRRAN ST FLBfF- P
10540 100m WiE FAQ) 56.14 (350 #Ck(2) 56.26(= T #i1:(2) 56.77 |7k FAEQ) 56.96 | KA1 1HFE(2) 57.63|FMH AFH2) 57.90(4 R (1) 58.44 500 A ARIAQ) 58.77
Rl - TLR5 =5 FZARAC M- =& Rl A5 Rl -z & Rl - FkH
Lof4n S00m AR THE(2) 2:13.93|FR 1 HWAE(2) 2:14.97|Hi% FaE(2) 2:15.33| 77— E3H2) 2:17.98|10 1B H2(2) 2:18.37| k¥ —HH(2) 2:18.66 /MK (1) 2:22.00|7138 #+(2) 2:22.98
FE - RE e 75 e el - o Rl - FE o =& Rl A5 FZARMAC e digrh
L0A4H 1500m iR M) 4:24.97| L1l HTK(©2) 4:25.94| 75k SeFH(2) 4:3351 |15 =2(2) 4:37.51 LI #i(2) 4:38.10| MR KK5(2) 4:41.39|7k% B A 4:41.65[/Mk 3HE(2) 4:42.32
=5 =5k e 5 e =5 e erp B S L 7 ARAC FE T - PRE
L0440 2000m L HTR2) 9:33.86| 4% H#H2) 9:34.42(FL1l1 #1(2) 9:48.71[HER  KHE(2) 10:04.14 KH BEAT(1) 10:09.39| Z5 /i  SCFH(2) 10:18.95|m B HRIK(1) 10:19.36 3446 —v(2) 10:21.68
=Pl GR[=4-%—h GR|e-erh Rl E Nt R« e e 35 e ] A G- LB
1044 L1omH S EQ2) 17.09 (-2.4) [k I HEE(Q2) 18.30 (-2.4)|fhjE Z2K(2) 19.01 (-2.4)|B8 KD 19.42 (-2.1)| ik LBR(2) 1943 (-2.4)|"BF FHHQ) 19.53 (-2.4)|[ AR #1-ZE®1) 19.57 (=2.0)|7eH KHu(2) 19.67 (-2.4)
SLBfE SRR - HH =& Sy s =5k ER=A S e A rp A% () EEPN T
- Ferp 46.69 | = il - HAL R 46.95 | = [if] - i) 1 4724 Rl - h 2 B 47.26| =5 5— 47.29| FLFH - R R 47.65| KL a1 4811 | fif] - VLR 48.89
FIl E2HQ2) BN RAH(2) W50 HZH Q) A KHEQ) BURR ¥u(2) MR FH(2) /i fER(2) HEVE ABEE(2)
10740 4x100mR  [#8% JE(2) HiE EW©Q) R FRQ) Wike #RAR2) HHOBEKRE) TH EHL2) i FEe—©2) L7 e YN
TR RE2) ARk (2) R BE2h2) I $2) B 1EH(2) IR FNO)) W E=R2) L MT2)
AN EEZE(2) EARE ERER) HH: B B BiR(2) JIEE P& (2) AR E2) JEH BEFTEA(2) AR B=Q)
BE HKO) 1.67 |50 =2 K(2) 164|451 (EE(2) 1.55|1EfE SLHE2) 1.50 R SLE(2) 1.50(3 52 H(2) 1.45
SLBE SRR Rl vz g FIARAC =4k Rl R+ el - B2 ]
L0440 - AT RPH2) 1.50
e 35 o
Al BEA2) 150
SR
B $2R02) w5.85 (+2.6)| & H Bifk(2) w5.77 (+2.9)| [ BEIK(2) w5.70 (+2.5)[ il H-K(2) 5.63 (+2.0)|#HH fH(2) w5.46 (+2.2)[E% BEHA(2) w5.43 (+2.3)| P E FHA Q) w5.29 (+2.2)[E7h &IB51) 5.28 (+1.3)
10H4H ARk Rl - 1Ly i e R /N E X Q¥ NP I « i B =Y s RN R« wE
2nd 5.83(+1.7) =GR
10540 L FEAR A (2) 10.92|E7h #RG(L) 7.68[ MR HE(Q2) 7.66[/1Nbk BEAE(2) 7.29( LM FRIRE2) 6.80 [k KAN(1) 6.58| & AKE(1) 6.56(7hI BB 6.54
PE i - R GR| [ - g SLBFE FRefid] - 52 [ SLBFE Jnpk-Ep R BN e/
ML R EREQ) 1736| BB Z223(2) 1469|B8 7 (2) 1271 L TREAQ2) 1063
SLBE LB =4 KRR () =5 =4 KRR ()
10A4H 110mH 17.91 (-1.2) 19.52 (-1.2) 19.39 (-1.2) 21.20 (-1.2)
10A4H fifL ¥ 8.20 7.02 595 6.74
10A4H &k 1.67 1.45 1.35 1.25
10A4H 400m 1:03.40 59.77 1:02.16 1:03.82

wiBJA5#5 GR:KRFEEE =GR:ANSH A inék




A f &8 LA 2fF 3L Y ivA 5L 6fiL HhE 8fir
e L0A 48 100m (Ll A1 25(2) 13.02 (1. 7D)[5E L 1F47(2) 13.06 (-1.7)|HF 1&[5(2) 1333 (1.1 E3(2) 13.55 (-1.7)| % 2Hk(2) 1359 (1.1 ILHE #4(2) 13.66 (-1.7)[85AK HE3E2) 13.87 (-1.D)| R FifEQ) 13.95 (-1.7)
Rl - o e e e 5 e el - B2 ] o e H A = Rl F e Rl - 7B
L0A4H 200m ik [7125(2) 26.61 (1.9l {H7(2) 26.76 (-1.9)|)& EK(2) 27.33 (F1.9)|#AR #(Q) 28.25 (-1.9)| Nk ZHk(2) 28.46 (-1.9)|[LH #%(2) 28.74 (-1.9)|*% 1 #17-(2) 28.86 (-1.9)[#)1l #iff(2) 28.95 (-1.9)
Rl - o e e el - £ i Rl - sk e F = - B Rl - TLB5
10540 800m 5 MEE(2) 2:19.46 |55 ZEME(2) 2:2529| A &6 H50E(2) 2:27.53( 1% EAL2) 2:31.23|2M EEQ) 2:31.27|5EH A1) 2:35.09|0 B HETH(2) 2:35.44| 05 D) 2:35.55
e et GR| 7 i - Rz e 5 e =R Rz & PE AR Rl - R =4k
104K 1500m AT fkrE2) 4:58.21IE% ZEIE(2) 4:58.81| (L% 3&H0(2) 5:16.72|5E M Fr727x(1) 5:21.54 |V D) 5:22.03|iFH EPI(2) 5:23.99| K5 H#k(2) 5:25.13|E%  M3E(2) 5:27.91
e V- B e PE - ARE =X P e sy Rl B Sl B R o o
10540 L00m Sl F-2) 16.24 (1.7)| LW B2 1713 (1.D|FHWE #H 1) 17.74 (1D E31(2) 1801 (-1.7)|EHE FEA(2) 18.04 (-1.6)| K WDEH(1) 18.23 (-1.6)[#%F HEAE(2) 18.27 (11K #0H0(2) 18.33 (-1.7)
e Rl A Rl - P Fefi] A5 ] L TAE Ly ARC Rtk Rl AL M-
e FHHF 51.74| =5 5F— 53.76 | R fifl - B 54.58|FA i - FH - rh 55.08 | P47 - R E 55.11 |- FErh 55.70 & fid] - s 56.21 [ fit] - X1 43 FH 7 56.66
Sl F-2) 2H FHT©) Y H 3E(2) IR A Q) KE ) e & H Q@) gk FIEE (1) AR #hoE(1)
10440 4x100mR  [HF 1&F52) HHOEEQ) ik [A125(2) MR e (2) UL R AC)) K o) e E(2) ek %2%(2)
Sl B (2) P EFQ) AT #E5(2) H FHiT2) i f52) TN BEE(1) HH R (i) -10))
TNgE Aetk(2) I #H(2) B #532(2) A% EAL(2) JEIR #E7-(2) R 202) MEH LR (D) ek =m0
%M ERO) 1350k 0 E4Q) 1.30[ 25 HR2) 1.30| M3k DA (2) 125\ H 2 FEF(©2) 12587 E(2) 1.20|75%  U720(2) 1.20
. 75 e =5 AR el - o =% THH =5k THP Rl g B IGRRAN ST
1040 &k
EiE ©DD(2) 1.20
EE Sy AUy
10548 - B HRQ) 2.00
Rl - g GR
1044 e HH FHF@) 492 (+1.5)| 1 H ZIZA(2) wa.70 (+2.2)| P18 EF0(2) 470 (+0.M|eifE &A(©2) 456 (+1.8)|2H FHi1(2) waAa7 2. Fuil FEER) 430 (+0.8)| H & Zme(2) 4.28 (+2.0)| &[] fRI1H:(2) 422 (+1.4)
BT - H GR| - ek =4 Sl M4y e =R iy ZEep e ferp =5
10548 —— &l KE3Q2) 831l #5H @) 8.29(E)Il —4E(2) 8.22|lIA #IH ZE(2) 197|716 H3#(2) 7.59(H B 6.98|Z81E 1372(2) 6.61[H ONEv() 6.42
e~ erp 4 () e g =5 AR ] - L] el - Rl g =4k =4
MR AR B (2) 1849|H)1l ABLHE(D) 1533 |1k EH(2) 1407|85K B 1344 KIi; BAZ%(2) 128085 #53E(1) 1259
[E2RG R et PE IR Rl =4 SRl M) 4 FH e R[] - X o
1040 100mH 17.16 (-3.4) 18.54 (-3.4) 18.65 (-3.4) 19.26 (-3.4) 19.16 (-3.4) 19.84 (-3.4)
1040 &k 1.30 1.25 1.25 1.25 125 1.20
10/4H fi fL ¥ 7.04 6.80 582 5.78 591 5.79
10/4H 200m 29.43 (-1.3) 30.94 (-1.3) 31.79 (-1.3) 31.82 (-1.3) 33.25 (-1.3) 31.65 (-1.3)

wiBJA5#5 GR:KRFEEE =GR:NSH ek




